
11/15/2021

To order
English	 1 866 718-4746	
Français  	 418 839-4127	 1 866 667-6328	 info@mticanada.ca
Fax	 418 839-3923	 1 800 363-7157	 www.mticanada.ca 2

Prices are subject to change without notice. Models may differ slightly from the picture.

Series Number  Description

1 MT101121FT07T07

Standard PTO Shaft with 2, 1 - 3/8” yokes, 6 splines each side, 48” long  
(center to center cross kit). * Model MT104061FT07T07 = 24” long *

2 MT102121FT07T07

4 MT104061FT07T07

4 MT104121FT07T07

5 MT105121FT07T07

6 MT106121FT07T07

8 MT108121FT07T07

4 MT104075FT07SB207

Snowblower PTO shaft with safety bolt, 28”, 29.5” or 30” long (center to center  
cross kit), bolted locked yoke for gear box. Two 6 splines yokes on 4, 5 and 6 series 
models. Six splines yoke and 20 splines yoke (1 3/4”) on 8 and 10 series models.

5 MT105075FT07SB207

6 MT106072FSBT1658 *

6 MT106072FT07SB207

8 MT108076FSBT2658 *

8 MT108076FT07SB207 **

8 MT108076FT07SB210

10 MT100076FT07SB210 ***

5 MT105121FTB207T07
Inversed snowblower PTO, 48" long (center to center cross kit). Tractor yoke: 1 - 3/8", 
6 splines with shear bolt. Implement yoke: 1 - 3/8", 6 splines, quick disconnect (Q.D.)

MTPTORACK Rack for 8 (eight) PTO shafts

 * With 1 - 1/2”  yoke round bore. See picture.
 ** With two 6 splines yokes. 
 *** With star tubes.

MTPTORACK

MT106121FT07T07
Standard PTO

MT105121FTB207T07
Inversed snowblower PTO

MT106072FSBT1658
Snowblower PTO

NEW DEALER

Buy 8 (eight) PTO shafts  
and get a free rack.

11/15/2021
PTO Shafts



To order
English	 1 866 718-4746	
Français  	 418 839-4127	 1 866 667-6328	 info@mticanada.ca
Fax	 418 839-3923	 1 800 363-7157	 www.mticanada.ca 3

Prices are subject to change without notice. Models may differ slightly from the picture.

11/15/2021

Number  Description

MTPB-1 SHIELD BEARING – 1 SERIES

MTPB-2 SHIELD BEARING – 2 SERIES

MTPB-3-4 SHIELD BEARING – 3-4 SERIES

MTPB-5-6 SHIELD BEARING – 5-6 SERIES

MTPB-7-8 SHIELD BEARING – 7-8 SERIES

MT000201T1 QUICK DISCONNECT PIN 14 X 44.5 MM

MT000202 YOKE PIN KIT

MT101 CROSS KIT MM22X54 – 1 SERIES

MT104 TRIANGULAR INNER SHAFT 26.5X3.5 MM

MT2SBT1 QUICK DISCONNECT SHEAR BOLT TORQUE LIMITER SB2 1 - 3/8''-6

MT200 COMPLETE SHIELD GUARD – 2 SERIES

MT201 CROSS KIT MM23.8X61.3 – 2 SERIES

MT203 TRIANGULAR OUTER SHAFT 36X3.4 MM

MT204 TRIANGULAR INNER SHAFT 29X4 MM

MT205N254 YOKE – 2 SERIES 1'' round

MT20505B QUICK DISCONNECT YOKE – 2 SERIES 1 - 3/8''-6 

MT206 OUTER TRIANGULAR YOKE – 2 SERIES

MT207 INNER TRIANGULAR YOKE – 2 SERIES

MT4FF1 FRICTION TORQUE LIMITER – 4 SERIES

MT4RA1 OVERRUNNING CLUTCH 1 - 3/8''-6 

MT4SA3 SA RATCHET TORQUE LIMITER 1 - 3/8''-6

MT4SBT1 QUICK DISCONNECT SHEAR BOLT TORQUE LIMITER SB4 1 - 3/8''-6

MT4SB2 SHEAR BOLT TORQUE LIMITER 1 - 3/8''-6 
2 bolts

MT400 COMPLETE SHIELD GUARD – 4 SERIES

MT40002 SHEAR BOLT TAPER PIN – 4 SERIES 65 MM

MT401 CROSS KIT MM27X74.6 – 4 SERIES

MT403 OUTER TRIANGULAR SHAFT MM43.5X3.3

MT404 INNER TRIANGULAR SHAFT 36X4.5 MM

MT405N318 YOKE WITH KEYWAY – 4 SERIES 1 - 1/4'' round

MT40505B QUICK DISCONNECT YOKE 1 - 3/8''-6 

MT406 OUTER TRIANGULAR YOKE – 4 SERIES

MT407 INNER TRIANGULAR YOKE – 4 SERIES

MT5FF4 FRICTION TORQUE LIMITER – 5 SERIES

MT5RA1 OVERRUNNING CLUTCH 1 - 3/8''-6 

MT5RA2 OVERRUNNING CLUTCH 1 - 3/8''-6 

MT5SBT1 QUICK DISCONNECT SHEAR BOLT TORQUE LIMITER SB5 1 - 3/8''-6 
1 bolt

MT5SB2 SHEAR BOLT TORQUE LIMITER – 5 SERIES 1 - 3/8''-6 
2 bolts

MT500 COMPLETE SHIELD GUARD – 5 SERIES

MT50002 SHEAR BOLT TAPER PIN – 5 SERIES 75 MM

MT501 CROSS KIT MM30.2X79.4 – 5 SERIES

MT503 TRIANGULAR OUTER SHAFT 51.5X2.9MM

MT505N381 YOKE WITH KEYWAY – 5 SERIES 1 - 1/2'' round

MT50505B QUICK DISCONNECT YOKE – 5 SERIES 1 - 3/8''-6 

Spare parts listSpare parts list

PTO Shafts



To order
English	 1 866 718-4746	
Français  	 418 839-4127	 1 866 667-6328	 info@mticanada.ca
Fax	 418 839-3923	 1 800 363-7157	 www.mticanada.ca 4

Prices are subject to change without notice. Models may differ slightly from the picture.

11/15/2021

Number  Description

MT506 OUTER TRIANGULAR YOKE – 5 SERIES

MT507 INNER TRIANGULAR YOKE – 5 SERIES

MT6FF2 FRICTION TORQUE LIMITER – 6 SERIES 1 - 3/8''-6

MT6FF4 FRICTION TORQUE LIMITER – 6 SERIES 1 - 3/8''-6

MT6RA1 OVERRUNNING CLUTCH 1 - 3/8''-6 

MT6RA2 OVERRUNNING CLUTCH 1 - 3/8''-6 

MT6SA3 SA RATCHET TORQUE LIMITER 1 - 3/8''-6

MT6SBT1 QUICK DISCONNECT SHEAR BOLT TORQUE LIMITER – 6 SERIES 1 - 3/8''-6 
1 bolt

MT6SB2 SHEAR BOLT TORQUE LIMITER – 6 SERIES 1 - 3/8''-6 
2 bolts

MT600 COMPLETE SHIELD GUARD – 6 SERIES

MT60002-75 SHEAR BOLT TAPER PIN – 6 SERIES 75 MM

MT601 CROSS KIT MM30.2 X 91.4 – 6 SERIES

MT603 OUTER TRIANGULAR TUBE MM54X4

MT604 INNER TRIANGULAR SHAFT MM45X4

MT605L381 IMPLEMENT YOKE – 6 SERIES 1 - 1/2'' round

MT60505B QUICK DISCONNECT YOKE – 6 SERIES 1 - 3/8''-6 

MT60507D QUICK DISCONNECT YOKE – 6 SERIES 1 - 3/8''-21

MT606 OUTER TRIANGULAR YOKE – 6 SERIES

MT607 INNER TRIANGULAR YOKE – 6 SERIES

MT8FF2 FRICTION TORQUE LIMITER – 8 SERIES 1 - 3/8''-6

MT8FF4 FRICTION TORQUE LIMITER – 8 SERIES

MT8SBT1 QUICK DISCONNECT SHEAR BOLT TORQUE LIMITER SB8 1 - 3/8''-6 
1 bolt

MT8SBT1-10MM SHEAR BOLT WITH LOCK NUT 10 MM

MT8SB2 SHEAR BOLT TORQUE LIMITER – 8 SERIES 1 - 3/4''-20 
2 bolts

MT8SB3 SHEAR BOLT TORQUE LIMITER – 8 SERIES 1 - 3/8''-6 
2 bolts

MT800 COMPLETE SHIELD GUARD – 8 SERIES

MT80002 SHEAR BOLT TAPER PIN – 8 SERIES 85 MM

MT801 CROSS KIT MM35X106 – 8 SERIES

MT803 OUTER TRIANGULAR TUBE MM63X4

MT804 INNER TRIANGULAR TUBE MM54X5

MT805L381 IMPLEMENT YOKE – 8 SERIES 1 - 1/2'' round

MT80505B QUICK DISCONNECT YOKE – 8 SERIES 1 - 3/8''-6 

MT80507D QUICK DISCONNECT YOKE  – 8 SERIES 1 - 3/8''-21

MT806 OUTER TRIANGULAR YOKE – 8 SERIES

MT807 INNER TRIANGULAR YOKE – 8 SERIES

MT10SBE SHEAR BOLT TORQUE LIMITER – 10 SERIES 1 - 3/4''-20

MT10SB SHEAR BOLT TORQUE LIMITER – 10 SERIES 1 - 3/8''-6

MT1006ST OUTER STAR YOKE – 10 SERIES

MT1007ST INNER STAR YOKE – 10 SERIES

MT100507D QUICK DISCONNECT YOKE  – 10 SERIES 1 - 3/8''-21

MT100507B QUICK DISCONNECT YOKE  – 10 SERIES 1 - 3/8''-6

MT1000 COMPLETE SHIELD GUARD – 10 SERIES

MT1001 CROSS KIT MM41X118 – 10 SERIES

Spare parts list (continued)Spare parts list (continued)

PTO Shafts


